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SANGAM SKM COLLEGE – NADI 

Lesson Notes-Week1 

YEAR 12 

                                                                          Economics  

Strand 2: Microeconomics imperfect competition  

Learning outcome : At the end of the lesson students should be able to identify the different types of 

market structures ,list the features and explain using graphs  

Notes  

Monopolistic  

Many sellers selling differentiated products and they have slight control over the prices they sell at. 

 

Characteristics 

1.Large number of buyers and 

sellers 

2.Long run barriers are non-existent 

3.Similar production cost-product 

differentiation 

4.Price makers 

Advantage 

1. Consumers pay high price 

2. Research and development undertaken 

                              Disadvantage 

3. No firm achieves economies of scale 

4. Productive and economic efficiency not achieve 

5. Misallocation of resources due to many firms 

producing less. Economically inefficient. 

 

Activity  

 

1. Draw graphs of Monopolistic Competition (Label all the curves) 

     a. Supernormal  Profit                      (2 marks) 

     b. Normal Profit                               (2 marks) 

     c. Subnormal Profit                          (2 marks) 

 

2. Explain the terms 

     a.Excess Capacity Theorem            (1 mark)            

      b.Product  differentiation               (1 mark) 

 

 

Notes 

 

 Oligopoly 

  Market structure consisting of  few, relatively large firms selling products with close    

  substitutes. 
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Characteristics 

1.Few large sellers                                          

2.Differentiated products are produced 

3.Entry is difficult due to  high  start up cost . 

 4.Limited consumer knowledge 

  

 

 

 

 

Activity 

1.a. What is meant by the term Cut Throat Competition ? (1 mark) 

   b. What fixed cost is associated with Oligopoly?              (1 mark) 

 

 (2)   Use the graph given below and your knowledge to answer questions (a) – (c). 

 

 

  a. Identify the type of market structure that is depicted in the graph above.   

     State a reason for your answer.                                                                       (2 marks) 

                

 b. Label the curves: A, B, C and D.                                                                   (2 marks)  

 c. What type of average revenue curve does this market structure have?         (1 mark)  

   
 

 
 

Obstacles to collusion                                                            
1.Demand and cost differences 
2.Large number of firms so difficult to 
manage 
3.Cheating 

Government Control 

 Competition laws 

 Taxation 

 Regulation and legislation 
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SANGAM SKM COLLEGE – NADI 

Lesson Notes-Week2 

YEAR 12 

ECONOMICS 

 

Strand 3: Macroeconomics 

Sub Strand : 

 

Lesson Objective 

At the end of the lesson students should be able to learn the definition of National Income and 

how to calculate GDP using Income Approach. 

 

Copy these notes 

 

National Income 

Made up of individuals income earned in the economy from the 4 factors of production 

  

Gross Domestic Product (GDP)( -measured in current price) 

-is the total value of goods and services produced in an economy in a given year 

  

 3 ways of determining GDP 

 1. Income Approach 

     Summing of all incomes earned in production of  goods and services. 

       Formula: GDP=Rent+ Wages +  Interest + Profit  + net indirect   tax +  depreciation 

 

  2.Expenditure Approach  

    Measures the  total amount of spending on final goods and services in a year. 

     Formula: GDP=Consumption + Investment+ Government Expenditure + Net Export 

 

  3.Value Added Approach/ Production Approach 

   A method of determining GDP by calculating how much value is contributed at each stage  

   of  production i.e. as goods progress down the chain of production from primary production  

   through to the end of tertiary production level; when they are finally distributed to consumers.  

 

 

 

 

 Example  
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Calculate GDP using Income Approach 

 

*Note  

1. The amount for indirect tax      

             is $8000 and not  $300 as     

             stated in the example      

             table. 

 

2. The value of rent is 0 and    

             wages is $42000. 

 

 

Solution                                 

Income Approach 

                               

Activity 

1. Use the information given below on the national accounts of a hypothetical economy and   

your knowledge to answer Questions  a and b. 

 
 

a. State the formula to calculate GDP using income approach. (1 mark)  

  

       b. Calculate GDP using income approach.                (1 mark) 
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  2. Write the formula to calculate Net Indirect Tax. (1 mark) 

 

Sangam S.K.M College- Nadi 

Year 12 

Economics 

Strand 3: Macroeconomics 

Lesson Notes-Week 3  

 

 

Lesson Objective 

At the end of the lesson students should be able to learn how to calculate GDP using expenditure 

Approach and Value Added Approach. 

 

Copy these notes 

 Example:  Calculate GDP using Expenditure Approach 

 

 

Solution 

 
 

 Example: Value Added Approach 
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Solution 

 
 

Activity 

1 .Use the information given in the table below to answer the questions below. 

 

 

a. Calculate the Gross Domestic  Product (GDP) using the Expenditure Approach . (2 marks) 

 

b. Differentiate between the two methods of calculating Gross Domestic product using    

    Expenditure Approach   and Value added Approach.                                     (2 marks) 
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2.Explain why statistical discrepancy is included in the calculation of GDP in national accounts. 

                                                                                                                                        (1 mark) 


